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1. Jackson has 35 baseball cards. Brayden has 5 times as many cards. How many cards does Brayden have?

2. 35,908 people attended the state fair on Friday. 321,813 people attended the state fair on Saturday. How many
more people attended the state fair altogether?

3. The planet Mercury measures 4,819 kilometers from one side to the other. Earth measures 12,356 from one side
to the other. What is the difference between the two measures?

4. 23,090 people attended a concert on Saturday. 13,838 people attended a concert on Sunday. How many more
people attended on Saturday?

5. One number has 4 thousands, 12 hundreds, and 0 tens. Another number has 4 thousands, 6 hundreds, and 5 tens.
Which choice correctly compares the two numbers?

a.4,120 < 4,650

b. 4,200 < 4,650

¢. 5,200 > 4,065

d. 5,200 > 4,650



6. Which choice has a total 4,5207?
a. 45 hundreds and 52 tens
b. 45 hundreds and 20 tens
¢. 40 hundreds and 62 tens
d. 38 hundreds and 12 tens

1. A red umbrella costs $8. A blue umbrella costs 3 times as much as the red umbrella. How much does the blue
umbrella cost?

8. Sydney went on a road 1'rip and traveled 2,89% miles. Eric went on a road frip and traveled 2,865 miles. Compare
the miles traveled using >.< or =.



